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	Audio Script – Narrator Voice-Over 

	Capacity has another underwriting standard - repayment ability. By evaluating repayment ability, we can measure the total capital available for debt service, capital asset replacement, and building working capital.  As with liquidity, solvency, and profitability, it provides insight into the quality of a loan decision.  At the end of this topic, you will be able to explain the purpose of evaluating repayment ability and define and calculate basic credit ratios for repayment ability.




	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	As the term implies, the repayment ability is the borrower’s ability to meet the debt (long term or short term) obligations.

By the end of this lesson topic, you will be able to:

· Explain the purpose of evaluating repayment ability

· Define and calculate basic credit ratios for repayment ability


	Mood-setting

Money28.jpg, or an image similar to it




	Navigation

	Previous
	<disabled>

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments

	Delete the page title - Topic Overview
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Page Type: Text  and Graphics

Programming Page: L3T5P2

Page Title: Capital Debt Repayment Capacity (CDRC)

	Audio Script - Narrator Voice-Over 

	The main measure of repayment ability is the Capital Debt Repayment Capacity, or CDRC for short.  Generally speaking, it reflects the borrower’s ability to repay both intermediate and long-term capital debt and the ability to generate enough earnings to service debt on a continuing basis. 




	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	Capital Debt Repayment Capacity (CDRC)

CDRC and CDRC%:

· Measure a borrower’s ability to repay capital debt (intermediate and long-term) based on analysis of the operation’s capital structure and earnings.

 .  

· Must demonstrate the borrower’s ability to generate sustainable average annual earnings adequate to service debt on a continuing basis, rather than only the next operating year.


	Mood-setting

Filename - folder

IN-carol2 - people




	Navigation

	Previous
	Takes the learner the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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Page Title: CDRC: Basic Components 

	Audio Script – Narrator Voice-Over 

	There are four basic components for CDRC – CDRC Capacity, demands on CDRC, CDRC margin, and CDRC percentage.  All four measure repayment ability and will be the focus of our next screens.




	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	CDRC: Basic Components
Listed below are the four basic components of CDRC:

1. CDRC – Capacity:  Measures the cash flow generated from the operation

2. Demands on CDRC:  Calculates the amount of cash that is needed to repay the capital debt

3. CDRC Margin:  Is the amount of cash leftover

4. CDRC Percentage:  Is the overall repayment capacity as a percentage


	Mood-setting

A collage of currency and coins


	Navigation

	Previous
	Takes the learner the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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Programming Page: L3T5P4

Page Title: The CDRC – Capacity Equation

	Audio Script – Narrator Voice-Over 

	The following equation shows how CDRC – Capacity is measured.  Remember CDRC- Capacity is a measure of the total capital available for debt service, capital asset replacement, and building working capital.




	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	The CDRC – Capacity Equation 

The CDRC is calculated using the following equation:

Net Farm Income From Operations (NFIFO)

+

Net Non-Farm Income

+

Depreciation

-

Income Taxes

-

Owners Withdrawals

+

Interest on Capital Debt

=

CDRC Capacity


	Mood-setting

A collage of tractor, building and cash


	Navigation

	Previous
	Takes the learner the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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Page Title: Calculating the CDRC

	Audio Script – Narrator Voice-Over 

	In this exercise, you will use the Brown Family earnings statement to calculate CDRC.  A calculator is available for your use.  When done, click “Check My Answer” to see how you did.




	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	Calculating the CDRC

Based on the information provided in the completed Earnings Statement, enter the amount corresponding to each item listed, and click CHECK MY ANSWER to see how you did. Please enter the numbers in the format 12345. Do NOT use commas.


	Refer to cdrc_treatment.doc for example treatment

Refer to section 7 of financial_analysis_ratios.doc for solution and explanation.



	Correct Response:

NFIFO = $29,395 

Net Non-farm Income = $68,000 

Depreciation = $35,000 

Income Taxes = $18,000 

Family Withdrawals = $62,000 

Interest on Capital Debt = $23,989 

CDRC Capacity = $76,384


	

	Solution:

NFIFO = $29,395 (line 38 of earnings statement)

Net Non-farm Income = $68,000 (line 41 of earnings statement)

Depreciation = $35,000 (line 35 of earnings statement)

Income Taxes = $18,000 (line 44 of earnings statement)

Family Withdrawals = $62,000 (line 47 of earnings statement)

Interest on Capital Debt = $23,989 (line 20 of earnings statement)

CDRC Capacity = $76,384

	Format as shown

The earnings statement in the current build be retained

	Prompt: Click CHECK MY ANSWER to know how you’ve done.
	


	Navigation

	Previous
	Takes the learner the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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	Audio Script – Narrator Voice-Over 

	What are the demands on CDRC?  Demands on CDRC are the sum of several components – capital asset replacement, working capital deficiency, principal on capital debt, and interest on capital debt.  Over the next few screens, you will have the opportunity to calculate each of these components.    




	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	Demands on CDRC Equation

The demands of CDRC is essentially the sum of the components listed below:

Principal on Capital Debt

+

Interest on Capital Debt

+

Capital Asset Replacement (CAR)

+

Working Capital Deficiency

=

Demands on CDRC


	Mood-setting

A generic mood setting image showing cash and machinery etc




	Navigation

	Previous
	Takes the learner the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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	Audio Script – Narrator Voice-Over 

	Capital Asset Replacement is the “Use Cost’ concept referred to in our earlier discussion of depreciation.  Depreciable facilities would typically include specialized facilities, such as found in expansions and/or larger operations, such as hog, poultry and dairy facilities.   




	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	Capital Asset Replacement (CAR) or Use Cost

The CAR:

· Measures financial resources needed to replace capital assets

· The amount of allowance needed for machinery/facility replacement less annual principal payments on loans financing those assets


	Mood-setting

Shows a hand holding the currency notes and used/worn-out machinery.

	The CAR is calculated using the equation below:

CAR

=

(10-15% of machinery value)

+

(5% of specialized facilities value)

-

(Principal payments on loans on depreciable assets)


	


	Navigation

	Previous
	Takes the learner the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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	Audio Script – Narrator Voice-Over 

	In this exercise, you will use the Brown Family earnings statement and balance sheet to calculate CAR. Note that in this case study, the loan officer opted to use 15% use cost due to heavy use of a small line of machinery.  Also note that the loan officer did not count principal payments from the $50,000 note, which was primarily for building improvements, not depreciable assets.  




	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	Calculating the CAR

Based on the information provided in the completed balance sheet and the completed earnings statement, enter the amounts corresponding to the items listed to the nearest integer, and click CHECK MY ANSWER. Do NOT use any commas.


	Use similar treatment as shown in cdrc_treatment.doc 

In addition to the Earnings Statement button, display the Balance Sheet button as well.

Use the following on-screen instructions (in lieu of instructions provided in cdrc_treatment.doc):

“Based on the information provided in the completed balance sheet and the completed earnings statement, enter the amounts corresponding to the items listed to the nearest integer, and click Check My Answer. Do NOT use any commas.”

There will be four entries in the table:

1. 15% of machinery value

2. + Facilities Value

3. -  Principal payments on loans on depreciable assets

4. CAR

Refer to section 8 of financial_analysis_ratios.doc for solution and explanation.



	Correct Response: 

15% of machinery value = $13,112

Facilities Value = $0

Principal payments on loans on depreciable assets = $8,659

CAR = $4,453


	

	Solution:

Machinery Value = $87,415 (listed in the Intermediate Farm Assets of the balance sheet) 15*87,415 – 13112.25

Facilities value = $0

Principal Payments on loans on depreciable assets = $8,659 (listed in the Intermediate Farm Liabilities section of the balance sheet)

CAR =  (0.15* $87,415) + 0 - $8,659 = $4,453


	Format as shown

Retain ‘Earning Statement in the current build.  

Use the, section (Balance Sheet so far –Net Worth Calculation – Page 23) from balance sheet so far.doc for the balance sheet button

	Prompt: Click CHECK MY ANSWER to know how you’ve done.
	


	Navigation

	Previous
	Takes the learner the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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	Audio Script – Narrator Voice-Over 

	The second component creating a demand on CDRC is working capital deficiency.  It is the working capital target minus the actual working capital.  If the actual is less than the target, then a deficiency exists.  If a deficiency exists, then it should be divided by 4, which allows the client four years -- a reasonable period of time -- to rebuild working capital to meet the target level, for projection purposes.


	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	The Working Capital Deficiency
The equation below calculates the:

Working Capital Deficiency =

Working Capital Target  - Actual Working Capital
If the actual working capital is less than working capital target, a deficiency exists and should be divided by 4, which allows the client 4 years to rebuild working capital to meet the target level.

Working Capital Target is typically taken to be 15% of the AGI (Adjusted Gross Income)


	Mood-setting

Image or cash or currency

Format formula as shown


	Navigation

	Previous
	Takes the learner the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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	Audio Script – Narrator Voice-Over 

	In this exercise, you will calculate the Working Capital Deficiency.  Follow the directions on the screen to proceed. 




	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	Calculating the Working Capital Deficiency

Based on the information provided in the completed balance sheet and the completed earnings statement, enter the amounts corresponding to the items listed, and click CHECK MY ANSWER, to see how you did. Do NOT use any commas.


	Use similar treatment as shown in cdrc_treatment.doc 

In addition to the Earnings Statement button, display the Balance Sheet button as well.

Use the following on-screen instructions (in lieu of instructions provided in cdrc_treatment.doc):

“Based on the information provided in the completed balance sheet and the completed earnings statement, enter the amounts corresponding to the items listed, and click Check My Answer. Do NOT use any commas.”

There are three entries in the table:

1. Working Capital Target (15% of AGI)

2. Actual Working Capital

3. Working Capital Deficiency

In addition, a hint is provided at the bottom of the screen: “Recall that the AGI is the sum of Value of Farm Production (VFP) and Gross Non-Farm Income”. 

Refer to section 9 of financial_analysis_ratios.doc for solution and explanation.



	Hint Text: Recall that the AGI is the sum of Value of Farm Production (VFP) and Gross Non-Farm Income.
	

	Correct response: 

Working Capital Target = 53571

Actual Working Capital = 66365

Working Capital Deficiency = -12794


	

	Solution:

Working Capital Target = 15% of AGI

AGI = Value of Farm Production + Gross Non-Farm Income

Value of Farm Production = $289,141 (line 11 of earnings statement)

Gross Non-Farm Income = $68,000 (line 41 of earnings statement)

15% of AGI = ($281,141 + $68,000) * 0.15 = $53,571

Actual Working Capital = Total Current Assets – Total Current Liabilities

                                  = $150,365 - $84,000




      = $66,365

Working Capital Deficiency = $53,571 - $66,365 = - $12,794

Since this is a negative number, no deficiency exists.


	Retain the  ‘Earning Statement in th e build. Use the, section (Balance Sheet so far –Net Worth Calculation – Page 23) from balance sheet so far.doc for the balance sheet button

	Prompt: Click CHECK MY ANSWER to know how you’ve done.
	


	Navigation

	Previous
	Takes the learner the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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Page Title: Calculating the Actual Demands on CDRC
	Audio Script – Narrator Voice-Over 

	Now that we’ve calculated the components for the Demands on CDRC, let’s calculate what the actual Demands for CDRC is in our case study.




	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	Calculating the Actual Demands on CDRC
Based on the information provided in the completed balance sheet and the completed earnings statement, enter the amounts corresponding to the items listed, and click CHECK MY ANSWER. Do NOT use any commas.


	Use similar treatment as shown in cdrc_treatment.doc 

In addition to the Earnings Statement button, display the Balance Sheet button as well.

Use the following on-screen instructions (in lieu of instructions provided in cdrc_treatment.doc):

“Based on the information provided in the completed balance sheet and the completed earnings statement, enter the amounts corresponding to the items listed, and click Check My Answer. Do NOT use any commas.”

There are 5 entries in the table:

1. Principal on Capital Debt

2. + Interest on Capital debt

3. + Capital Debt Replacement

4. + Working Capital Deficiency

5. Demands on CDRC

Refer to section 10 of financial_analysis_ratios.doc for solution and explanation.



	Correct response:

Principal on Capital Debt = 25569

Interest on Capital debt = 23989

Capital Asset Replacement = 4453

Working Capital Deficiency = 0

Demands on CDRC = 54011


	

	
	Use the document – ‘Earning Statement So far’ for the button Earnings Statement, refer to the section - For page 16 – Net Farm Income and Net Earnings Section 2
Use the document – ‘Balance Sheet So far’ for the button Brown family’s balance sheet, refer to the section - Balance Sheet so far –Net Worth Calculation – Page 23

	Solution

Principal on Capital Debt = $25,569 (by adding the principal portions in the Current Liabilities section of the balance sheet: $11,810 +$13,759)

Interest on Capital debt = $23,989 (line 20 of the earnings statement)

Capital Debt Replacement = $4,453 (calculated during discussion on CAR)

Working Capital Deficiency = 0 (calculated during discussion on WC Deficiency)

Demands on CDRC = $54,011


	

	Prompt: Click CHECK MY ANSWER to know how you’ve done.
	


	Navigation

	Previous
	Takes the learner the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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Page Title: The CDRC Margin

	Audio Script – Narrator Voice-Over 

	Let’s move on to CDRC Margin.  The CDRC Margin is the amount of CDRC – or margin – left over after allowing for annual demands.




	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	The CDRC Margin

CDRC Margin represents the margin remaining after allowing for annual demands. The equation to calculate is shown below:

CDRC Margin

=

CDRC

-

Demands on CDRC
Based on the calculations performed:

CDRC Margin  = $76,384 - $54,011

                         = $22,373                     


	Mood-setting

Filename - folder

DSCN6096 – people at work

Format as shown


	Navigation

	Previous
	Takes the learner the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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Page Title: Overall Repayment Capacity

	Audio Script – Narrator Voice-Over 

	You can also measure the overall repayment capacity as a percentage, with 115% generally accepted as a standard.




	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	Overall Repayment Capacity

This is measured as a:

· CDRC Percentage = (CDRC/Demands on CDRC) * 100%

                              = (76,384/54,011) * 100% = 141 %

· Standard, which is > 115%


	Filename - folder

DSCN6092 – people at work


	Navigation

	Previous
	Takes the learner the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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Page Title: The CDRC Margin Vs. Demands on CDRC

	Audio Script – Narrator Voice-Over 

	Here’s a visual way of depicting the CDRC Margin in relation to the Demands on CDRC, and the CDRC – Capacity.




	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	The CDRC Margin Vs. Demands on CDRC

The image below depicts the CDRC Margin in relation to the Demands on CDRC:

	Refer to cdrc_piechart.doc


	Navigation

	Previous
	Takes the learner the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments

	


Lesson 3: The Basics of Financial Analysis 

Topic 5: Repayment Ability
Page Type: Text and Graphics

Programming Page: L3T5P15

Topic Summary

	Audio Script – Narrator Voice-Over 

	In this topic, you learned the purpose of evaluating repayment ability. You were able to define and calculate basic credit ratios for repayment ability, including capital debt repayment capacity, capital asset replacement, capital debt repayment capacity margin, and capital debt repayment capacity percentage, all of which provide insight into the ability or capacity a borrower has, to repay capital debt.  




	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	Topic Summary

Let’s summarize what you have learned. In this topic you have learned and understood about:

· The purpose of evaluating repayment ability

· The basic credit ratios for repayment ability

· Capital debt repayment capacity

· Capital asset replacement

· Capital debt repayment capacity margin

· Capital debt repayment capacity percentage


	Mood-setting

Collage of images in the previous pages



	Prompt: Click LESSON MENU to begin the next topic
	


	Navigation

	Previous
	Takes the learner the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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